speedometer
IN KOSO GP style HI

Thank you for purchasing KOSO GP style speedometer, before operating the unif, please read the Instruction thoroughly and retain It for the
future reference.

A Nofice

1.The meter is apply for DC 12V.

2.For installation, please follow the steps described in manual. Any damage caused by wrong installation shall be imputed fo the users.
3.7o avoid the short circuit, please don't pull the wire when installing. Don't break or modify the wire ferminal.

4.Do not disassemble or change any parts excluding the manual description.

5.The interior examination or maintenance should be executed by our professionals.

SYMBOL NOTE:

[¥[eY i3 You could gef the insiallafion defails from the information behind the mark. ] B B
A\ Some processes musf be followed fo avoid the affection caused by wrong insfaliafion. |
EN7YINIe]] Some processes must be followed 70 avoid damages To yourself or The public. | Ui S e ’,s'é?sELEgchT’g,s,ﬁ

CAUTION! Some processes must be followed fo avoid the damage fo the vehicle. |
1 -4 [Accessory

Yl Meter x 1 V.8l Connect terminai X 3
M8/ S fype speed M10/ S type speed M5 Hexagon socket
X sensor bracket X 1 (] sensor bracket X 1 Yl scrowx 2 (:] 2.5 mm sponner X 1

2 Diglital speed sighal

sonsor X 1 i3 D6 X 5L mm magnet X 6

L*d Meter bracket X 1
&
7z

[Zjvoxpromxs |

3
[ exenceaburonx |
Wz

[5Y M4 washer X 2

®
@
)

&

Y ¥4 Aluminum bush X 1

S

[le)ia Please confact the local distribufor If The lfems you open are nof the same, with The above-iisted one.

p A Active speed sensor k] Dlgrtal speed signal

4 -2 Option accessory

Yl Disc magnet screw

5/16-18 X22.1L

4 Digital speed signal
sensor

) Msxro.gXio \\
»’«\‘X\\W M6XP1.0X12.60 N\
@. M6 XP1.0X 19,71 = % ‘
) M6 XP1.0X 241 N 2 I
M8 XP1.25X 22.5L M8XP1.25X 27.5L er) = o
MB8XP1.25X 29L M10XP1.25X 28.3L JISTYPE a JISTYPE A

Digital speed signal Digital speed signal }
) sensor 6 pdd y 4l U-tyoe meter bracket

SR OIS

X-FIGHT
BOOSTER

Mirror hole mefer
bracket

W
W

;ww )

RUNNER

[leY 13 Some of the option accessories may not sell. For the details, please contact the local distributor. |

INS TRUCTION

2 -1 Wiring installation instructions

[Connect terminal [Accessory 4]]

ﬁ’- . g @
U-fyoe bracker E Brown [ "+"Wire connect key
—(Option Red] Posfive pole [Connec —  on DC 12V main power swifch
accessory 7] fo the battery DC 12V) —[Black ] Ground wire connecf fo the
vehicle body or the engine (It must
il be a good ground)
U »E==
|Speed|sensor wiring| Digifal speed signal
| Merter [Accessory 1] sensor [Accessory 2)
—[Brackef [Opflon accessory 8)| ) == 5 E[]:]ﬂ

|
/ Extended button [Option accessory 18}

Main switch wirlng reference: You could use the extended buffon whien

Power Rey on Ground you install the meter at the posifion you con't
YAMAHA Red Brown Black fouch the original button.
HONDA Red Red/ Black Green
SUZUKI Block Green
KAWASAKI White Brown __|Black [ Yeliow|

KYMCO Red Black Green

SYM Red Black Green

PGO Red /White | Orange Black

[I8}13 The color listed above may differ depending
on the model.

A\ The north [N] side of magnef must face To the sensor when insfalling. |

[Y[eYi3 When connecting the power wiring, please follow the Instruction. If you connect the red & brown wiring In parallel will cause the
meter work Improperly.

2 -2 Installation instructions

When installing, please follow the process.

1. Meter (Accessory 1)

2. Meter bracket [Accessory 9]

3. M4 washer X 2 [Accessory 15)

4. M4 X PQ.7 nut X 2 [Accessory 13)

5. M6 X P1.0 screw [Accessory 14)

6. M6 washer (Accessory 16)

@ Use the meter bracket [Accessory 9), handle bar clamp
[Accessory 10), rubber {Accessory 11) and the nut fo install the
speedometer on the handle bar.

O Use the aluminum bush{Accessory 17) to install the speedometer on
the handle bar stem.

Put the magnet info the Install The s fype sensor Adjust the sensor rcckef Install the speed sensor Adjust the distance
brake disc screw hole. bracket. position to make sure that  on the bracket. between sensor and
the sensor could face the magnet. We suggest you
magnet to prevent bad to make sure the
speed signal or no signall distance is under 8 mm
for cafching good speed
signal.
- )
The more magnet sensor points are, the less the display interval is. when installing the magnet, please @B(. 1 B(. @

EX. 3: If your disk has 5 screws, you could install 1 or 5 magnets to catch the speed.

put the magnet with N-mark side face the outside and put them averagely to avoid wrong signal. EX. 3[EX 4
EX. 1: If your dlisk has 3 screws, you could install 1 or 3 magnefs to catch the speed. e . ‘ . ‘ .
EX. 2: If your disk has 4 screws, you could install 1 ~ 2 or 4 magnets fo cafch the speed. O @ @
EX. 4: If your disk has 6 screws, you could install 1 ~ 2 ~ 3 or 6 magnets to cafch the speed. / \

After finishing the magnet Installation and sensor poini setting, please move your fire to iest the speedometer work or nof. )

wh485ba004-B



3-1 Basic function instruction

-

Odo mefer

@Display range: 0~99999
km (mile) , reset
aufomatically affer 99999

km (mile) .
@Display unit: 1 km (mile)

Trip meter

@Display range: 0~999.9
km [mile) , reset
autormnatically after 999.9

Speedometer A
@DIisplay range:

0~160 km/h (MPH) g &
@Display unit: 1 km/h (MPH) £ &
[0} ™
| «—> | <t ['s]
18 mm Q Q

Y.

e
36 mm 53.2 mm

km [mile). -
@®Display unit: 0.1 km (mile). [‘dl"s’ button

@/n the main screen, Press the Adjust button to switch between odometer and frip meter.

@!n the frip meter screen, Press down the Adjust button for 3 seconds to reset the frip mefer.

3 -2 Function, setting instruction

@Speedometer Display range: 0~160 km/h (MPH)
Display unit: 1 km/h (MPH)

ODisplay Infernal <0.5 second

OODO meter Display range:0~99999 km (mile) reset
aufomatically after 99999 km (mile) .
Display unit: 1 km (mile)

Orrip Display range:0~999.9 kn (mile) reset

automnatically affer 0~999.9 km (mile)
Display unit: 0.1 km (mile).

COlTire circumference sefting Seffing range: 300~2,500 mm
Seftting unit: 1 mm - Sensor point: 1~60

@Effective voltage DC12v
@cEffective femperature range -10~+60°C
@Meter standard JIS D 0203
@Mefter size D48 X 53.2 mm
@Meter weight Around 132.2g

[¥[eYia Design and specification are subject fo change without nofice!

[XleYi3 If you enter the seffing screen for 30 seconds and don'f press the buffon, It will back o the maln screen automatically.

4 -1 MAIN SCREEN FUNCTION SWITCH INSTRUCTION

@4-1-1 Adjust buiton function instruction

@~Fress Adjust bufton once fo swifch function
from ODO fo frip.

@in main screen, you could press down the
Adjust button for 3 seconds fo change the
speed unif.

Goood ( y{boodo

[M@¥1d Fxternal switch can be used as Adjust
bufton fo change the function display]

A 5 B
@fb or ﬁ%}
@°Fress Adjust buffon once to switch function
from trip to ODO.

@Fress and hold Adjust button for 3 second,
the recordin trip will be clear.

| B276 ) Bood)
5 TR

® The main screen.

@ 4-1-2 Adjusi+Select button function instruction
{ Tire circumference ,sensor position)

@Fress and hold both Adjust and Select
buftons for 3 second to enfer fire
circumference seffing screen.

(Check section 4-2 for detail)

T » 3600

[ileYJ3 Do not enter into sefup function
when car is running

4 -2 Tire circumference and sensor position setting

You could define the

i

valve as the starfing point & & &
and the ferminal point to o g Mo

measure the wheel circumference with a measuring fape.

%z;ﬁﬁ

@CEX: The tire circumference is 1300mm
@Fress Select button fo move fo the digital
you would like fo set, Current fire is sefting
by 1000mm circumference.
A 1.Please measure the fire circurnference ( The fire you will
install the sensor on} and make sure the number of
sensor point (You could install the magnet info the disc
screw or the f screw)
2.The fire circumference can be sef is fiashing now.

[¥[eYiq 1.7ire clrcumference setting range:
300~2,500mm
2. Adjust unit: per 1 mm

\
ot

~

@Fress Adjust butifon fo select the digital you
would like fo set.

@EX: The circumference has been change
from 1,000mm to 1,300mm.

(i) ) [ 50) ) (3300

@Fress Selec butfon to enter sensor point
sefting screen.

@7he sensor selting was change for 1P fo 16P
@Press Select button fo back to main screen.

~

@EX: we would like set 16 sensor point on bike

@Fress Adjust button 1o select the digital you
would like 1o sef.

A\ The sensor poinf setfing screen are fiashing |
now.

[[®Y1d 1.Sensor point sefting range: 1~60 point
2.Adjust range: 1 point.

5 Trouble shootin

g

The meter doesn't work
when the power Is on.

information.

The meter shows wrong |@Please check the voltage of your

ICheckitem |

@7he power doesn't supply to the meter.
—Please make sure the wiring is
connected. The wiring and fuse are not
broken.
—The battery is broken or the battery is oo
old fo supply enough power [(DC 12V) fo
make the meter work.

battery, and make sure the volitage is
over DC 12V.

@7he main screen.

The followlIng sifuation do not Indicate malfunction of the meter. Please check the following before taking It In for repalr.

Speed does nof appear
or appear incorrectly.

Checkitem |

@Please make sure the speed sensor is
connected correctly.

@Please check the fire-size setfing.
—please refer to the manual 4-1.

XIf still can't solve the problems according fo the steps above, please contact with disfributors or us.

wh485ba004-B



	D48 指針液晶英文說明書(wh485ba004)_頁面_1
	D48 指針液晶英文說明書(wh485ba004)_頁面_2

